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ALL FOUR questions are compulsory and MUST be attempted

Question 1

ASOP Co is considering an investment in new technology that will reduce operating costs through increasing
energy efficiency and decreasing pollution. The new technology will cost $1 million and have a four-year life, at the
end of which it will have a scrap value of $100,000.

A licence fee of $104,000 is payable at the end of the first year. This licence fee will increase by 4% per year in each
subsequent year.

The new technology is expected to reduce operating costs by $5-80 per unit in current price terms. This reduction
in operating costs is before taking account of expected inflation of 5% per year.

Forecast production volumes over the life of the new technology are expected to be as follows:

Year 1 2 3 4
Production (units per year) 60,000 75,000 95,000 80,000

If ASOP Co bought the new technology, it would finance the purchase through a four-year loan paying interest at an
annual before-tax rate of 8-6% per year.

Alternatively, ASOP Co could lease the new technology. The company would pay four annual lease rentals of
$380,000 per year, payable in advance at the start of each year. The annual lease rentals include the cost of the
licence fee.

If ASOP Co buys the new technology it can claim capital allowances on the investment on a 25% reducing balance
basis. The company pays taxation one year in arrears at an annual rate of 30%. ASOP Co has an after-tax weighted
average cost of capital of 11% per year.

Required

(a) Based on financing cash flows only, calculate and determine whether ASOP Co should lease or buy the new
technology. (11 marks)

(b)  Using a nominal terms approach, calculate the net present value of buying the new technology and advise
whether ASOP Co should undertake the proposed investment. (6 marks)

(c)  Discuss and illustrate how ASOP Co can use equivalent annual cost or equivalent annual benefit to choose
between new technologies with different expected lives. (3 marks)

(d)  Discuss how an optimal investment schedule can be formulated when capital is rationed and investment
projects are either:

(i) Divisible; or
(i)  Non-divisible. (5 marks)

(Total =25 marks)
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Question 2

DD Co has a dividend payout ratio of 40% and has maintained this payout ratio for several years. The current
dividend per share of the company is 50c per share and it expects that its next dividend per share, payable in one
year’s time, will be 52¢ per share.

The capital structure of the company is as follows:

$m $m

Equity
Ordinary shares (par value $1 per share) 25
Reserves 35

60
Debt
Bond A (par value $100) 20
Bond B (par value $100) 10

30

90

Bond A will be redeemed at par in ten years’ time and pays annual interest of 9%. The current ex interest market
price of the bond is $95-08.

Bond B will be redeemed at par in four years’ time and pays annual interest of 8%. The cost of debt of this bond is
7-82% per year. The current ex interest market price of the bond is $102.01.

Bond A and Bond B were issued at the same time.

DD Co has an equity beta of 1-2. The risk-free rate of return is 4% per year and the average return on the market of
11% per year. Ignore taxation.

Required
(@)  Calculate the cost of debt of Bond A. (3 marks)
(b)  Discuss the reasons why different bonds of the same company might have different costs of debt. (6 marks)

()  Calculate the following values for DD Co:

(i) Cost of equity, using the capital asset pricing model; (2 marks)
(i)  Exdividend share price, using the dividend growth model; (3 marks)
(iii)y  Capital gearing (debt divided by debt plus equity) using market values; and (2 marks)
(iv)  Market value weighted average cost of capital. (2 marks)
(d)  Discuss whether a change in dividend policy will affect the share price of DD Co. (7 marks)

(Total = 25 marks)

Question 3

NG Co has exported products to Europe for several years and has an established market presence there. It now
plans to increase its market share through investing in a storage, packing and distribution network. The investment
will cost €13 million and is to be financed by equal amounts of equity and debt. The return in euros before interest
and taxation on the total amount invested is forecast to be 20% per year.

The debt finance will be provided by a €6-5 million bond issue on a large European stock market. The interest rate
on the bond issue is 8% per year, with interest being payable in euros on a six-monthly basis.

The equity finance will be raised in dollars by a rights issue in the home country of NG Co. Issue costs for the rights
issue will be $312,000. The rights issue price will be at a 17% discount to the current share price. The current share
price of NG Co is $4-00 per share and the market capitalisation of the company is $100 million.

NG Co pays taxation in its home country at a rate of 30% per year. The currency of its home country is the dollar.
The current price/earnings ratio of the company, which is not expected to change as a result of the proposed
investment, is 10 times.
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The spot exchange rate is 1-3000 €/$. All European customers pay on a credit basis in euros.

Required

(a)  Calculate the theoretical ex rights price per share after the rights issue. (4 marks)
(b)  Evaluate the effect of the European investment on:

(i) The earnings per share of NG Co; and
(i) The wealth of the shareholders of NG Co.

Assume that the current spot rate and earnings from existing operations are both constant. (9 marks)

(c) Explain the difference between transaction risk and translation risk, illustrating your answer using the
information provided. (4 marks)

(d)  The six-month forward rate is 1.2876 €/$ and the twelve-month forward rate is 1-2752 €/$. NG Co can earn
2-8% per year on short-term euro deposits and can borrow short-term in dollars at 5-3% per year.

Identify and briefly discuss exchange rate hedging methods that could be used by NG Co. Provide
calculations that illustrate TWO of the hedging methods that you have identified. (8 marks)

(Total =25 marks)

Question 4

APX Co achieved a turnover of $16 million in the year that has just ended and expects turnover growth of 8-4% in
the next year. Cost of sales in the year that has just ended was $10-88 million and other expenses were $1.44
million.

The financial statements of APX Co for the year that has just ended contain the following statement of financial
position:

$m $m
Non-current assets 22-0
Current assets
Inventory 2-4
Trade receivables 22
46
Total assets 266
Equity finance: $m $m
Ordinary shares 5.0
Reserves 75
125
Long-term bank loan 100
22:5
Current liabilities
Trade payables 1.9
Overdraft 22
441
Total liabilities 26-6

The long-term bank loan has a fixed annual interest rate of 8% per year. APX Co pays taxation at an annual rate of
30% per year.

The following accounting ratios have been forecast for the next year:

Gross profit margin: 30%
Operating profit margin: 20%
Dividend payout ratio: 50%
Inventory turnover period: 110 days
Trade receivables period: 65 days
Trade payables period: 75 days
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Overdraft interest in the next year is forecast to be $140,000. No change is expected in the level of non-current
assets and depreciation should be ignored.

Required

(@)  Discuss the role of financial intermediaries in providing short-term finance for use by business
organisations. (4 marks)

(b)  Prepare the following forecast financial statements for APX Co using the information provided:

(i) An income statement for the next year; and
(i) A statement of financial position at the end of the next year. (9 marks)

(c)  Analyse and discuss the working capital financing policy of APX Co. (6 marks)

(d)  Analyse and discuss the forecast financial performance of APX Co in terms of working capital management.
(6 marks)

(Total = 25 marks)
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